
𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑇𝑒𝑛𝑠𝑖𝑜𝑛 𝑡ℎ𝑒 𝑠𝑡𝑟𝑖𝑛𝑔 𝑎𝑛𝑑 𝑓𝑜𝑟𝑐𝑒 𝑜𝑛 𝑡ℎ𝑒 𝑝𝑜𝑙𝑒/𝑤𝑎𝑙𝑙.

𝐹ଵ

𝑇ଶ

+

𝐹௚ = 𝑚𝑔

𝐹௚ = 25(9.8)

𝐹௚ = 245

25

𝑇ଶ௬ = 245
 𝑂 = 𝐻𝑠𝑖𝑛𝜃
 𝑇ଶ௬ = 𝑇ଶ𝑠𝑖𝑛𝜃

𝑇ଶ =
𝑇ଶ௬

𝑠𝑖𝑛𝜃
⎯⎯⎯⎯

𝑇ଶ =
245

𝑠𝑖𝑛40
⎯⎯⎯⎯⎯

𝑇ଶ = 381.15𝑁

40௢

     𝐴 = 𝐻𝑐𝑜𝑠𝜃
 𝑇ଶ௫ = 𝑇ଶ𝑐𝑜𝑠𝜃
𝑇ଶ௫ = 381.15𝑐𝑜𝑠40
𝑇ଶ௫ = 291.86𝑁

40௢

245
381.15

𝐹ଵ = 𝑇ଶ௫

𝐹ଵ = 291.86𝑁

35଴

𝐹௚ = 𝑚𝑔

𝐹௚ = 25(9.8)

𝐹௚ = 245

𝑇ଵ௫ = 𝑇ଵ𝑐𝑜𝑠𝜃ଵ

𝑇ଵ௬ = 𝑇ଵ𝑠𝑖𝑛𝜃ଵ

𝑇ଶ௫ = 𝑇ଶ𝑐𝑜𝑠𝜃ଶ

𝑇ଶ௬ = 𝑇ଶ𝑠𝑖𝑛𝜃ଶ

                                   𝑇ଵ௬ + 𝑇ଶ௬ = 𝐹௚

                  𝑇ଵ𝑠𝑖𝑛𝜃ଵ + 𝑇ଶ𝑠𝑖𝑛𝜃ଶ = 245
                 𝑇ଵ𝑠𝑖𝑛35 + 𝑇ଶ𝑠𝑖𝑛25 = 245

ቆ
𝑇ଶ𝑐𝑜𝑠25

𝑐𝑜𝑠35
⎯⎯⎯⎯⎯⎯⎯ቇ 𝑠𝑖𝑛35 + 𝑇ଶ𝑠𝑖𝑛25 = 245

          0.6346 𝑇ଶ + 0.4226 𝑇ଶ = 245
                                     1.057 𝑇ଶ = 245
                                                  𝑇ଶ= 231.74 𝑁

         𝑇ଵ௫ = 𝑇ଶ௫

𝑇ଵ𝑐𝑜𝑠𝜃ଵ = 𝑇ଶ𝑐𝑜𝑠𝜃ଶ

𝑇ଵ𝑐𝑜𝑠35 = 𝑇ଶ𝑐𝑜𝑠25

            𝑇ଵ =
𝑇ଶ𝑐𝑜𝑠25

𝑐𝑜𝑠35
⎯⎯⎯⎯⎯⎯⎯

𝑇ଵ =
(231.74)𝑐𝑜𝑠25

𝑐𝑜𝑠35
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝑇ଵ = 256.4𝑁

𝑇ଵ

𝑇ଶ

25

25௢

𝐴 =
𝑂

𝑡𝑎𝑛𝜃
⎯⎯⎯⎯⎯

𝐹ଵ =
𝑚𝑔

𝑡𝑎𝑛𝜃
⎯⎯⎯⎯⎯

𝐹ଵ =
25(9.8)

𝑡𝑎𝑛40
⎯⎯⎯⎯⎯⎯⎯

𝐹ଵ = 291.86𝑁

291.86

25௢

𝑇ଵ 𝑇ଶ

35଴

1 2

25௢

35௢

245

𝑇ଵ

𝑇ଶ

55଴90௢ − 35௢ = 55௢

65௢

   
𝑎

𝑠𝑖𝑛𝐴
⎯⎯⎯⎯ =

𝑏

𝑠𝑖𝑛𝐵
⎯⎯⎯⎯

 
𝑇ଵ

𝑠𝑖𝑛65
⎯⎯⎯⎯⎯ =

𝐹௚

𝑠𝑖𝑛60
⎯⎯⎯⎯⎯

       𝑇ଵ =
𝐹௚

𝑠𝑖𝑛60
⎯⎯⎯⎯⎯× 𝑠𝑖𝑛65

       𝑇ଵ = 256.4 𝑁

 
𝑇ଶ

𝑠𝑖𝑛55
⎯⎯⎯⎯⎯ =

𝐹௚

𝑠𝑖𝑛60
⎯⎯⎯⎯⎯

        𝑇ଶ =
𝐹௚

𝑠𝑖𝑛60
⎯⎯⎯⎯⎯× 𝑠𝑖𝑛55

        𝑇ଵ = 231.74 𝑁

60௢

180௢ − 55௢ − 65௢ = 60௢

Sin Law

Up=Down

Left=Right

Up=Down
Left=Right

𝐶𝑒𝑖𝑙𝑖𝑛𝑔

𝐶𝑒𝑖𝑙𝑖𝑛𝑔

𝑊𝑎𝑙𝑙

String

Pole
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